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Question 1
Question Type: MultipleChoice

A company realizes that multiple departments are using different cloud providers for mission-critical workloads. They are experiencing

poor performance on workloads across different cloud providers and notice that there are deployment inconsistencies.

In this scenario, what are two ways to correct the problem? (Choose two.)

Options: 
A- Use infrastructure as code (IaC) to ensure deployments satisfy design specifications.

B- Use storage services that can scale dynamically with workload demands.

C- Consolidate data for applications into volumes on a single cloud provider.

D- Ensure that all virtual machines use Reserved Instances to maximize performance.

Answer: 
B, C

Question 2



Question Type: MultipleChoice

A customer has a multi-cloud environment and wants to deploy Cloud Volumes ONTAP in both AWS and Azure.

In this scenario, which two statements are true? (Choose two.)

Options: 
A- The customer must provide a private subnet with only VPC or VNet routing for any Connector.

B- The customer must provide outbound Internet access for any Connector.

C- The customer must deploy a single Connector for either AWS or Azure and create a VPN connection to the other cloud.

D- The customer must deploy one Connector for AWS and a second Connector for Azure.

Answer: 
B, C

Question 3
Question Type: MultipleChoice



You want to manage access to your hybrid cloud resources centrally. You want to use single sign-on (SSO) to access your NetApp

Cloud Central accounts using credentials from your corporate directory.

Which two open standards would you use to federate your identity to the company's SSO? (Choose two.)

Options: 
A- Security Assertion Markup Language 2.0 (SAML)

B- Windows Active Directory (AD) authentication protocols

C- Lightweight Directory Access Protocol (LDAP)

D- OpenID Connect (OIDC)

Answer: 
B, C

Question 4
Question Type: MultipleChoice



You are asked to design a monitoring solution for your Cloud Volumes ONTAP environment for AWS. You decide to enable the

Monitoring service in Cloud Manager.

In this scenario, which two statements are correct? (Choose two.

Options: 
A- You must configure alerts through the Cloud Insights user interface.

B- The Monitoring service displays the performance of clusters using the Active IQ page in NetApp Cloud Manager.

C- You must have a pre-existing NetApp Cloud Insights tenant to enable the Monitoring service.

D- The Monitoring service deploys a virtual machine into your VPC.

Answer: 
B, C

Question 5
Question Type: MultipleChoice



You are designing a disaster-recovery solution for a customer who is running a critical workload on Azure NetApp Files. You suggest

cross-region replication

In this scenario, which two statements are true? (Choose two.)

Options: 
A- Cross-region replication depends on Global VNet Peering.

B- Cross-region replication can be used to replicate SMB workloads.

C- Cross-region replication can replicate data between any two Azure regions

D- Cross-region replication works only between designated region pairs.

Answer: 
B, C

Question 6
Question Type: MultipleChoice



Your manager asks you to include steps In your NetApp Hybrid cloud deployment to reduce the risk of a developer accidentally

interfering with your mission-critical applications that are in production.

In this scenario, which step would you perform?

Options: 
A- Identify federated NetApp Cloud Manager's identity to your company's SSO.

B- Use dedicated NetApp Cloud Manager accounts for development and production environments.

C- Isolate the production's VPC network from the development's VPC network.

D- Enable multifactor authentication (MFA) for privileged administrators to access NetApp ONTAP software and NetApp Cloud Manager.

Answer: 
C

Question 7
Question Type: MultipleChoice



You want to protect your data against ransomware attacks In Cloud Volumes ONTAP In this scenario, which two policies should be

enabled? (Choose two.)

Options: 
A- Snapshot policy

B- tiering policy

C- FPolicy

D- export policy

Answer: 
A, B

Question 8
Question Type: MultipleChoice

You are using Cloud Volumes ONTAP to store persistent data In a multi-tiered Web application on AWS. In this scenario, which two

architectures would improve application availability? (Choose two.)



Options: 
A- deployment of the Cloud Volumes ONTAP High Availability instances In a private subnet

B- deployment of a AWS CloudHSM cluster in the same Availability Zone as a Cloud Volumes ONTAP single-node instance

C- deployment of a Cloud Volumes ONTAP single-node instance on a single dedicated compute host

D- deployment of Web servers behind a network load balancer

Answer: 
B, D

Question 9
Question Type: MultipleChoice

A customer wants to design a solution that provides unique persistent storage when scaling a StatefuISet application. The customer

proposes using a volume claim template in the StatefulSet definition to generate a unique persistent volume and use NetApp Trident to

automate the provisioning of the persistent volume.

Which Kubernetes object would be used in this scenario?



Options: 
A- HorizontalPodAutoscaler

B- CronJob

C- StorageClass

D- ConfigMap

Answer: 
A

Question 10
Question Type: MultipleChoice

You are designing an automation solution that you will use across both on-premises and cloud-based NetApp ONTAP systems. You

want a single automation solution for both locations to reduce the administrative overhead.

In this scenario, which two automation tools would you use? (Choose two.)

Options: 



A- Ansible

B- Rest API

C- ARM

D- CloudFormation

Answer: 
B, C

Question 11
Question Type: MultipleChoice

Your company has just merged with another organization. You are responsible for connecting both companies by designing a new multi-

region cloud service in Microsoft Azure. Both company's Azure subscriptions and tenants have been merged already. You want to

enable cross-region connectivity between the new services and endpoints.

In this scenario, which service do you consider?

Options: 



A- ExpressRoute

B- VNet Peering

C- Service endpoints

D- Site-to-Site VPN

Answer: 
A
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